
Set Includes:

PROTO®

Item # 6C365
Mfr. Model # J99720

Mfg Part # Description Qty

10-099 ST KNF RETRACT CARDED 1

STHT20138 12IN HACKSAW PLASTIC HANDLE 1

28-240 11/4 FLEX PUTTY KNIF 1

J1100R SET WRENCH BOX 7 PC 12 PT (set break-
down indented below)

1

J1170 WRENCH BOX 5/16 X 3/8 12 PT 1

J1171 WRENCH BOX 7/16 X 1/2 12 PT 1

J1172 WRENCH BOX 9/16 X 5/8 12 PT 1

J1173 WRENCH BOX 11/16 X 3/4 12 PT 1

J1174 WRENCH BOX 13/16 X 7/8 12 PT 1

J1175 WRENCH BOX 15/16 X 1 12 PT 1

J1176 WRENCH BOX 1 1/16 X 1 1/8 12 1

J1190A SET WRENCH BOX RATCHETING 5 P (set 
breakdown indented below)

1

J1195-A WRENCH RAT BOX 3/4 X 7/8 12 P 1

J1194-A WRENCH RAT BOX 5/8 X 11/16 12 1

J1193T-A WRENCH RAT BOX 1/2 X 9/16 12 1

J1192T-A WRENCH RAT BOX 3/8 X 7/16 12 1

J1191T-A WRENCH RAT BOX 1/4 X 5/16 12 1

J1200EFS 8PC SHORT COMBO  6PT WRENCH SET 
(set breakdown indented below)

1

J1204EFS 1/8 WRENCH COMB SHORT 6PT 1

J1205EFS 5/32 WRENCH COMB SHORT 6PT 1

J1206EFS 3/16 WRENCH COMB SHORT 6PT 1

J1208EFS 1/4 WRENCH COMB SHORT 6PT 1

J1209EFS 9/32 WRENCH COMB SHORT 6PT 1

J1210EFS 5/16 WRENCH COMB SHORT 6PT 1

J1211EFS 11/32 WRENCH COMB SHORT 6PT 1

J1212EFS 3/8 WRENCH COMB SHORT 6PT 1

J1200FASD SET WRENCH COMB 15 PC 12 PT (set 
breakdown indented below)

1

J1240ASD WRENCH COMB 1-1/4 12 PT 1

J1236ASD WRENCH COMB 1-1/8 12 PT 1

J1234ASD WRENCH COMB 1-1/16 12 PT 1

J1232ASD WRENCH COMB 1 12 PT 1

J1230ASD WRENCH COMB 15/16 12 PT 1

J1228ASD WRENCH COMB 7/8 12 PT 1

J1226ASD WRENCH COMB 13/16 12 PT 1

J1224ASD WRENCH COMB 3/4 12 PT 1

J1222ASD WRENCH COMB 11/16 12 PT 1

Mfg Part # Description Qty

J1220ASD WRENCH COMB 5/8 12 PT 1

J1218ASD WRENCH COMB 9/16 12 PT 1

J1216ASD WRENCH COMB 1/2 12 PT 1

J1214ASD WRENCH COMB 7/16 12 PT 1

J1212ASD WRENCH COMB 3/8 12 PT 1

J1210A WRENCH Comb 5/16 12 Pt 1

J1242 WRENCH COMB 1-5/16 12 PT 1

J1244 WRENCH COMB 1-3/8 12 PT 1

J1246 WRENCH COMB 1-7/16 12 PT 1

J1248 WRENCH COMB 1-1/2 12 PT 1

J1270A SET WRENCH COMB FLEX 7 PC 12 (set 
breakdown indented below)

1

J1270-24A WRENCH COMB FLEX 3/4IN 12PT 1

J1270-22A WRENCH COMB FLEX 11/16IN 12PT 1

J1270-20A WRENCH COMB FLEX 5/8IN 12PT 1

J1270-18A WRENCH COMB FLEX 9/16IN 12PT 1

J1270-16A WRENCH COMB FLEX 1/2IN 12PT 1

J1270-14A WRENCH COMB FLEX 7/16IN 12PT 1

J1270-12A WRENCH COMB FLEX 3/8IN 12PT 1

J1312AVP 12OZ BALL PEEN HAMMER 1

J1316AVP 16OZ BALL PEEN HAMMER 1

54-032 ST HMMR 32OZ PEIN 1

57-522 ST HMMR 18OZ SOFT 1

J1430G HAMMER BRASS 1-1/2 LB 1

J1725 WRENCH OBSTRUCTION 7/16 X 1/2 1

J1730 WRENCH OBSTRUCTION 9/16 X 5/8 1

J1731 WRENCH OBSTRUCTION 5/8 X 3/4 1

J18545 KNIFE LOCKBACK 5 W/LTR SHEATH 1

J206G PLIER DIAGONAL W/GRIP 1

J209G PLIER DIAGONAL W/GRIP 1

J2100 SET PRY + ROLLING HEAD BA (set break-
down indented below)

1

99PRT BOX PLAIN 1 PC 99 150E 1

J2120 BAR PRY ALIGNING 18 1

J2124 BAR PRY ALIGNING 24 1

J2126 BAR 12IN LONG 1/2IN TIP 1

J2130 BAR 16IN LONG 5/8 IN TIP 1

J2108 HOLDER PUNCH + CHISEL 1



Mfg Part # Description Qty

J222G PLIER NEEDLE NOSE W/GRIP 1

J225G PLIER NEEDLE NOSE CURVE W 1

J226G PLIER NEEDLE NOSE SIDE CU 1

J227G PLIER DUCKBILL W/GRIP 1

J2381 STD COTTER-PIN PULLER PICK 1

J2343 1-1/2” CARBON SCRAPPER 1

J2373 MIRROR INSPECT RECT 2-1/8 1

J2375 RETRIEVER MAG 16-3/4 TELE 1

J268G PLIER LINEMANS W/GRIP 1

J272G PLIER END CUTTING W/GRIP 1

J276GXL 6” PLIER SLIP-JOINT W/GRIP(NATRL 
FINISH)

1

J278GXL 8”PLIER SLIP-JOINT W/GRIP(NATURAL 
FINISH

1

J286LNXL PLIER LOCKING LONG NOSE 6 1

J291NC PLIER LOCKING STRAIGHT 7 1

J292NC PLIER LOCKING CURVED 1

J298 PLIER WIRE STRIPPERS 1

J4980 SET HEX KEY 13PC 1

J3000H SET WRENCH OPEN END 10 PC (set 
breakdown indented below)

1

J3050 WRENCH OPEN END 1-1/16 X 1-1/8 1

J3045 WRENCH OPEN END 15/16 X 1 1

J3040 WRENCH OPEN END 13/16 X 7/8 1

J3035 WRENCH OPEN END 11/16 X 3/4 1

J3031 WRENCH OPEN END 5/8 X 3/4 1

J3030 WRENCH OPEN END 9/16 X 5/8 1

J3026 WRENCH OPEN END 1/2 X 9/16 1

J3025 WRENCH OPEN END 7/16 X 1/2 1

J3020 WRENCH OPEN END 3/8 X 5/16 1

J3018 WRENCH OPEN END 1/4 X 5/16 1

J303S SNIP AVIATION STRAIGHT 1

J308 SNIP MINIATURE 1

J3300A SET WRENCH ANGLE SHORT 9 PC (set 
breakdown indented below)

1

J3314 WRENCH ANGLE 7/32 1

J3315 WRENCH ANGLE 15/64 1

J3316 WRENCH ANGLE 1/4 1

J3318 WRENCH ANGLE 9/32 1

J3320 WRENCH ANGLE 5/16 1

J3322 WRENCH ANGLE 11/32 1

J3324 WRENCH ANGLE 3/8 1

J3328 WRENCH ANGLE 7/16 1

J3332 WRENCH ANGLE 1/2 1

J360B SET PLIER RETAINING RING 1

Mfg Part # Description Qty

J3700A SET WRENCH FLARE NUT COMB 7 P (set 
breakdown indented below)

1

J3757 WRENCH FLARE NUT COMB 3/4 6 P 1

J3756 WRENCH FLARE NUT COMB 11/16 6 1

J3755 WRENCH FLARE NUT COMB 5/8 6 P 1

J3754 WRENCH FLARE NUT COMB 9/16 6 1

J3753 WRENCH FLARE NUT COMB 1/2 6 P 1

J3752 WRENCH FLARE NUT COMB 7/16 6 1

J3751 WRENCH FLARE NUT COMB 3/8 6 P 1

J3800A SET WRENCH FLARE NUT RATCHET (set 
breakdown indented below)

1

J3824 WRENCH FLARE NUT RATCH 3/4 12 1

J3822 WRENCH FLARE NUT RATCH 11/16 1

J3820 WRENCH FLARE NUT RATCH 5/8 12 1

J3818 WRENCH FLARE NUT RATCH 9/16 1 1

J3816 WRENCH FLARE NUT RATCH 1/2 12 1

J3814 WRENCH FLARE NUT RATCH 7/16 1 1

J3812 WRENCH FLARE NUT RATCH 3/8 12 1

J404A 4IN REGULAR DUTY C-CLAMP 200

J4255 SET PULLER LGT REVERSE 3 (set break-
down indented below)

1

J4022T PULLER TIP DETACHABLE STA 1

J4056-4 PULLER JAW REVERSIBLE 4 R 300

J4056PN PULLER PIN PIVOT 300

J4205S PULLER SCREW FORCING ACME 1

J4250N PULLER NUT ADJ REVERSIBLE 1

J4255B PULLER YOKE 3 WAY JAW ACM 1

J46S2 SET PUNCH + CHISEL 26PC (set break-
down indented below)

1

J86A1/2S2 CHISEL COLD 5/8 1

J86A1/4S2 CHISEL COLD 5/16 1

J86A1X8S2 CHISEL COLD 1 3/16 1

J86A3/16S2 CHISEL COLD 1/4 1

J86A3/4X8S2 CHISEL COLD 7/8 1

J86A5/16S2 CHISEL COLD 3/8 1

J86A5/8S2 CHISEL COLD 3/4 1

J86A7/16S2 CHISEL COLD 1/2 1

J86A7/8X8S2 CHISEL COLD 1 1

J411/2S2 PUNCH CENTER 1/2 1

J413/8S2 PUNCH CENTER 3/8 1

J445/16S2 PUNCH PRICK 5/16 1

J471/2X1/4 PUNCH PIN 1/4 1

J471/4X3/32 PUNCH PIN 3/32 1

J473/8X3/16 PUNCH PIN 3/16 1

J475/16X1/8 PUNCH PIN 1/8 1

J475/16X5/32 PUNCH PIN 5/32 1



Mfg Part # Description Qty

J477/16X7/32 PUNCH PIN 7/32 1

J501/2S2 PUNCH STARTING 1/4 1

J501/4S2 PUNCH STARTING 3/32 1

J503/8S2 PUNCH STARTING 3/16 1

J505/16S2 PUNCH STARTING 1/8 1

J507/16S2 PUNCH STARTING 7/32 1

J961/2S2 PUNCH DRIFT 1/4 1

J25TR21C KIT TOOL 26 POCKETS 1

J965/16S2 PUNCH DRIFT 1/8 1

J963/8S2 PUNCH DRIFT 3/16 1

J47137S 1/4 DR 37PC SAE 6PT (set breakdown 
indented below)

1

J4706 SOCKET 1/4 DR 3/16 6 PT 1

J4707 SOCKET 1/4 DR 7/32 6 PT 1

J4708 SOCKET 1/4 DR 1/4 6 PT 1

J4709 SOCKET 1/4 DR 9/32 6 PT 1

J4710 SOCKET 1/4 DR 5/16 6 PT 1

J4711 SOCKET 1/4 DR 11/32 6 PT 1

J4712 SOCKET 1/4 DR 3/8 6 PT 1

J4714 SOCKET 1/4 DR 7/16 6 PT 1

J4716 SOCKET 1/4 DR 1/2 6 PT 1

J4718 SOCKET 1/4 DR 9/16 6 PT 1

J4707L SOCKET 1/4 DR 7/32 6 PT DEEP 1

J4706L SOCKET 1/4 DR 3/16 6 PT DEEP 1

J4708L SOCKET 1/4 DR 1/4 6 PT DEEP 1

J4709L SOCKET 1/4 DR 9/32 6 PT DEEP 1

J4710L SOCKET 1/4 DR 5/16 6 PT DEEP 1

J4711L SOCKET 1/4 DR 11/32 6 PT DEEP 1

J4712L SOCKET 1/4 DR 3/8 6 PT DEEP 1

J4714L SOCKET 1/4 DR 7/16 6 PT DEEP 1

J4716L SOCKET 1/4 DR 1/2 6 PT DEEP 1

J4718L SOCKET 1/4 DR 9/16 6 PT DEEP 1

J4708S SOCKET 1/4 DR 1/4 8 PT 1

J4710S SOCKET 1/4 DR 5/16 8 PT 1

J4712S SOCKET 1/4 DR 3/8 8 PT 1

J4737 SOCKET BIT 1/4 DR # 1 PHILLI 1

J4738 SOCKET BIT 1/4 DR # 2 PHILLI 1

J4743 SOCKET BIT 1/4 DR SLOTTED 1

J4744 SOCKET BIT 1/4 DR SLOTTED 1

J4745 SOCKET BIT 1/4 DR SLOTTED 1

J4749 RATCHET 1/4 DR 1

J4759 EXTENSION 1/4 DR 2 1

J4760 EXTENSION 1/4 DR 3 1

J4761 EXTENSION 1/4 DR 6 1

J4765 EXTENSION FLEX 1/4 DR 6 1

J4766 HANDLE HINGE 1/4 DR 5-3/4 1

Mfg Part # Description Qty

JD1402R DRIVER SOCKET 1/4 DR 1

J4770A 1/4 Dr. Universal Joint 1

J4785 HANDLE SLIDING T 1/4 DR 1

J4770-11 SET HEX BIT 1/4 DR 11 PC (set break-
down indented below)

1

J47701/16 SOCKET HEX BIT 1/4 DR 1/16 1

J47705/64 SOCKET HEX BIT 1/4 DR 5/64 1

J47703/32 SOCKET HEX BIT 1/4 DR 3/32 1

J47707/64 SOCKET HEX BIT 1/4 DR 7/64 1

J47701/8 SOCKET HEX BIT 1/4 DR 1/8 1

J47709/64 SOCKET HEX BIT 1/4 DR 9/64 1

J47705/32 SOCKET HEX BIT 1/4 DR 5/32 1

J47703/16 SOCKET HEX BIT 1/4 DR 3/16 1

J47707/32 SOCKET HEX BIT 1/4 DR 7/32 1

J47701/4 SOCKET HEX BIT 1/4 DR 1/4 1

J47705/16 SOCKET HEX BIT 1/4 DR 5/16 1

J4771TA 1/4 Dr. 12 Point, 1/4 1

J4772TA 1/4 Dr. 12 Point, 5/16 1

J4773TA 1/4 Dr. 12 Point, 3/8 1

J4774TA 1/4 Dr. 12 Point, 7/16 1

J4780AG HANDLE SPEEDER 1/4 DR 1

J49004CF 9PC 3/8 IN CROWFOOT 3/8 -7/8 (set 
breakdown indented below)

1

J4916CF CROWFOOT 3/8 DR 1/2 OE 1

J4928CF CROWFOOT 3/8 DR 7/8 OE 1

J4926CF CROWFOOT 3/8 DR 13/16 OE 1

J4924CF CROWFOOT 3/8 DR 3/4 OE 1

J4922CF CROWFOOT 3/8 DR 11/16 OE 1

J4920CF CROWFOOT 3/8 DR 5/8 OE 1

J4918CF CROWFOOT 3/8 DR 9/16 OE 1

J4914CF CROWFOOT 3/8 DR 7/16 OE 1

J4912CF CROWFOOT 3/8 DR 3/8 OE 1

J52142 SET SOCKET 3/8DR 58PC 12PT (set 
breakdown indented below)

1

J49901/4 SOCKET HEX BIT 3/8 DR 1/4 1

J49901/8 SOCKET HEX BIT 3/8 DR 1/8 1

J49903/16 SOCKET HEX BIT 3/8 DR 3/16 1

J49903/8 SOCKET HEX BIT 3/8 DR 3/8 1

J49905/16 SOCKET HEX BIT 3/8 DR 5/16 1

J49905/32 SOCKET HEX BIT 3/8 DR 5/32 1

J49907/32 SOCKET HEX BIT 3/8 DR 7/32 1

J5008 SOCKET 3/8 DR 1/4 12 PT DEEP 1

J5010 SOCKET 3/8 DR 5/16 12 PT DEE 1

J5012 SOCKET 3/8 DR 3/8 12 PT DEEP 1

J5014 SOCKET 3/8 DR 7/16 12 PT DEE 1

J5016 SOCKET 3/8 DR 1/2 12 PT DEEP 1



Mfg Part # Description Qty

J5018 SOCKET 3/8 DR 9/16 12 PT DEE 1

J5020 SOCKET 3/8 DR 5/8 12 PT DEEP 1

J5022 SOCKET 3/8 DR 11/16 12 PT DE 1

J5024 SOCKET 3/8 DR 3/4 12 PT DEEP 1

J5026 SOCKET 3/8 DR 13/16 12 PT DE 1

J5028 SOCKET 3/8 DR 7/8 12 PT DEEP 1

J5030 SOCKET 3/8 DR 15/16 12 PT DE 1

J5032 SOCKET 3/8 DR 1 12 PT DEEP 1

J5208 SOCKET 3/8 DR 1/4 12PT 1

J5208S SOCKET 3/8 DR 1/4 8 PT 1

J5210 SOCKET 3/8 DR 5/16 12 PT 1

J5210S SOCKET 3/8 DR 5/16 8 PT 1

J5212 SOCKET 3/8 DR 3/8 12 PT 1

J5212S SOCKET 3/8 DR 3/8 8 PT 1

J5214 SOCKET 3/8 DR 7/16 12 PT 1

J5214S SOCKET 3/8 DR 7/16 8 PT 1

J5216 SOCKET 3/8 DR 1/2 12 PT 1

J5216S SOCKET 3/8 DR 1/2 8 PT 1

J5218 SOCKET 3/8 DR 9/16 12 PT 1

J5220 SOCKET 3/8 DR 5/8 12 PT 1

J5222 SOCKET 3/8 DR 11/16 12 PT 1

J5224 SOCKET 3/8 DR 3/4 12 PT 1

J5226 SOCKET 3/8 DR 13/16 12 PT 1

J5228 SOCKET 3/8 DR 7/8 12 PT 1

J5230 SOCKET 3/8 DR 15/16 12 PT 1

J5232 SOCKET 3/8 DR 1 12 PT 1

J5241 SOCKET BIT 3/8 DR #2 PHILLIP 1

J5242 SOCKET BIT 3/8 DR #3 PHILLIP 1

J5243 SOCKET BIT 3/8 DR #4 PHILLIP 1

J5246 SOCKET BIT 3/8 DR SLOTTED 1

J5247 RATCHET 3/8 DR 1

J5249 RATCHET 3/8 DR 1

J5260 EXTENSION 3/8 DR 3 1

J5260-06 EXTENSION 3/8 DR 6 1

J5262 EXTENSION 3/8 DR 12 1

J5265 HANDLE HINGE 3/8 DR 7-7/8 1

J5270A 3/8 Dr. Universal Joint 1

J5273A 3/8 Dr. 12 Point, 3/8 1

J5274A 3/8 DR 12 Point 7/16 1

J5275A 3/8 Dr. 12 Point, 1/2 1

J5276A 3/8 Dr. 12 Point, 9/16 1

J5277A 3/8 Dr. 12 Point, 5/8 1

J5278A 3/8 Dr. 12 Point, 11/16 1

J5279A 3/8 Dr. 12 Point, 3/4 1

J5280AG HANDLE SPEEDER 3/8 DR 1

J5285 HANDLE SLIDING T 3/8 DR 1

Mfg Part # Description Qty

J5257F 3/8 DR ROUND HEAD FLEX 1

J5260-06W EXTENSION WOBBLE 3/8 DR 6 1

J5260W EXTENSION WOBBLE 3/8 DR 3 1

J5268 EXTENSION 3/8 DR 8 1

J54132 SET SOCKET 1/2 DR 65 PC 12 P (set 
breakdown indented below)

1

J5316 SOCKET 1/2 DR 1/2 12 PT DEEP 1

J5318 SOCKET 1/2 DR 9/16 12 PT DEE 1

J5320 SOCKET 1/2 DR 5/8 12 PT DEEP 1

J5322 SOCKET 1/2 DR 11/16 12 PT DE 1

J5324 SOCKET 1/2 DR 3/4 12 PT DEEP 1

J5326 SOCKET 1/2 DR 13/16 12 PT DE 1

J5328 SOCKET 1/2 DR 7/8 12 PT DEEP 1

J5330 SOCKET 1/2 DR 15/16 12 PT DE 1

J5332 SOCKET 1/2 DR 1 12 PT DEEP 1

J5334 SOCKET 1/2 DR 1-1/16 12 PT D 1

J5336 SOCKET 1/2 DR 1-1/8 12 PT DE 1

J5340 SOCKET 1/2 DR 1-1/4 12 PT DE 1

J5412 SOCKET 1/2 DR 3/8 12 PT 1

J5412S SOCKET 1/2 DR 3/8 8 PT 1

J5414 SOCKET 1/2 DR 7/16 12 PT 1

J5414S SOCKET 1/2 DR 7/16 8 PT 1

J5416 SOCKET 1/2 DR 1/2 12 PT 1

J5416S SOCKET 1/2 DR 1/2 8 PT 1

J5418 SOCKET 1/2 DR 9/16 12 PT 1

J5418S SOCKET 1/2 DR 9/16 8 PT 1

J5419 SOCKET 1/2 DR 19/32 12 PT 1

J5420 SOCKET 1/2 DR 5/8 12 PT 1

J5420S SOCKET 1/2 DR 5/8 8 PT 1

J5422 SOCKET 1/2 DR 11/16 12 PT 1

J5422S SOCKET 1/2 DR 11/16 8 PT 1

J5424 SOCKET 1/2 DR 3/4 12 PT 1

J5424S SOCKET 1/2 DR 3/4 8 PT 1

J5425 SOCKET 1/2 DR 25/32 12 PT 1

J5426 SOCKET 1/2 DR 13/16 12 PT 1

J5426S SOCKET 1/2 DR 13/16 8 PT 1

J5428 SOCKET 1/2 DR 7/8 12 PT 1

J5428S SOCKET 1/2 DR 7/8 8 PT 1

J5429 SOCKET 1/2 DR 29/32 12 PT 1

J5430 SOCKET 1/2 DR 15/16 12 PT 1

J5432 SOCKET 1/2 DR 1 12 PT 1

J5432S SOCKET 1/2 DR 1 8 PT 1

J5434 SOCKET 1/2 DR 1-1/16 12 PT 1

J5436 SOCKET 1/2 DR 1-1/8 12 PT 1

J5438 SOCKET 1/2 DR 1-3/16 12 PT 1

J5440 SOCKET 1/2 DR 1-1/4 12 PT 1



Mfg Part # Description Qty

J54411/2 SOCKET HEX BIT 1/2 DR 1/2 1

J54411/4 SOCKET HEX BIT 1/2 DR 1/4 1

J54413/8 SOCKET HEX BIT 1/2 DR 3/8 1

J54415/16 SOCKET HEX BIT 1/2 DR 5/16 1

J54415/8 SOCKET HEX BIT 1/2 DR 5/8 1

J54417/16 SOCKET HEX BIT 1/2 DR 7/16 1

J54419/16 SOCKET HEX BIT 1/2 DR 9/16 1

J5442 SOCKET 1/2 DR 1-5/16 12 PT 1

J5444 SOCKET 1/2 DR 1-3/8 12 PT 1

J5444A SOCKET 1/2 DR DRAG LINK 1

J5446 SOCKET 1/2 DR 1-7/16 12 PT 1

J5447 RATCHET 1/2 DR 1

J5448 SOCKET 1/2 DR 1-1/2 12 PT 1

J5449 RATCHET 1/2 DR 1

J5450 RATCHET 1/2 DR 1

J5460 EXTENSION 1/2 DR 2-1/2 1

J5461 EXTENSION 1/2 DR 5 1

J5463 EXTENSION 1/2 DR 10 1

J5468 HANDLE HINGE 1/2 DR 18-5/ 1

J5470A UNIVERSAL JOINT 1/2 DR 1

J5475A SOCKET 1/2 DR 1/2 12 PT UNIV 1

J5476A SOCKET 1/2 DR 9/16 12 PT UNI 1

J5477A SOCKET 1/2 DR 5/8 12 PT UNIV 1

J5480AG HANDLE SPEEDER 1/2 DR 1

J5485 HANDLE SLIDING T 1/2 DR 1

J5446A SOCKET 1/2 DR DRAG LINK 1

J5457F 1/2 DR ROUND HEAD FLEX 1

J55104 SET SOCKET 3/4 DR 29 PC 12 P (set 
breakdown indented below)

1

J5528 SOCKET 3/4 DR 7/8 12 PT 1

J5530 SOCKET 3/4 DR 15/16 12 PT 1

J5532 SOCKET 3/4 DR 1 12 PT 1

J5534 SOCKET 3/4 DR 1-1/16 12 PT 1

J5536 SOCKET 3/4 DR 1-1/8 12 PT 1

J5538 SOCKET 3/4 DR 1-3/16 12 PT 1

J5540 SOCKET 3/4 DR 1-1/4 12 PT 1

J5542 SOCKET 3/4 DR 1-5/16 12 PT 1

J5544 SOCKET 3/4 DR 1-3/8 12 PT 1

J5546 SOCKET 3/4 DR 1-7/16 12 PT 1

J5548 SOCKET 3/4 DR 1-1/2 12 PT 1

J5550 SOCKET 3/4 DR 1-9/16 12 PT 1

J5552 SOCKET 3/4 DR 1-5/8 12 PT 1

J5554 SOCKET 3/4 DR 1-11/16 12 PT 1

J5556 SOCKET 3/4 DR 1-3/4 12 PT 1

J5558 SOCKET 3/4 DR 1-13/16 12 PT 1

J5560 SOCKET 3/4 DR 1-7/8 12 PT 1

Mfg Part # Description Qty

J5564 SOCKET 3/4 DR 2 12 PT 1

J5568 SOCKET 3/4 DR 2-1/8 12 PT 1

J5570 SOCKET 3/4 DR 2-3/16 12 PT 1

J5572 SOCKET 3/4 DR 2-1/4 12 PT 1

J5576 SOCKET 3/4 DR 2-3/8 12 PT 1

J5649 RATCHET 3/4 DR 1

J5660 EXTENSION 3/4 DR 4 1

J5661 EXTENSION 3/4 DR 8 1

J5663 EXTENSION 3/4 DR 16 1

J5668 HANDLE HINGE 3/4 DR 20 1

J5670 UNIVERSAL JOINT 3/4 DR 1

J5685 HANDLE SLIDING T 3/4 DR 1

J6014C Torque WRENCH 1/2Dr 50-250 FtLb 1

J706B WRENCH ADJUSTABLE 6 1

J708B WRENCH ADJUSTABLE 8 1

J710B WRENCH ADJUSTABLE 10 1

J712B WRENCH ADJUSTABLE 12 1

J715B WRENCH ADJUSTABLE 15 1

J801 WRENCH CHAIN 1

J810HD WRENCH PIPE 10 1

J814HD WRENCH PIPE 14 1

J1122 WRENCH BOX 3/8 X 7/16 12 PT S 1

J1126 WRENCH BOX 1/2 X 9/16 12 PT S 1

J1131 WRENCH BOX 5/8 X 3/4 12 PT SH 1

J1120 WRENCH BOX 5/16 X 3/8 12 PT S 1

J818HD WRENCH PIPE 18 1

J1219RCF 19PC COMB SCREWDRIVER SET (set 
breakdown indented below)

1

JCP1803RF 1/8X3IN CABINET ROUND BAR PRECISON 1

JCP1804RF 1/8X4IN CABINET ROUND BAR PRECISI 1

JCP1808RF 1/8X8IN CABINET ROUND BAR PRECISI 1

JC31604RF 3/16X4IN CABINET ROUND BAR 1

JKB31604RPF
SCREWDRIVER SLOTTED KEYSTONE RD 
3/16X4 1

JC31608RF 3/16X8IN CABINET ROUND BAR 1

JK14112RF 1/4X1.5IN KEYSTONE RND BAR 1

JKB1404RPF 1/4X4IN BOLSTER KEYSTN RD HP BR 1

JKB51606RPF 5/16X6IN BOLSTER KEYSTONE ROUND BAR 1

JKB3808RPF 3/8X8IN BOLSTER KEYSTONE ROUND BAR 1

JKB3812RPF SCREWDRIVER SLTD KEYSTONE RD 3/8 X 1

JPP0003RF
NO0 X 3IN PHILLIPS ROUND BAR PRECI-
SION 1

JP0103RF NO1 X 3IN PHILLIPS ROUND BAR 1

JP0108RF NO 1 X 8IN PHILLIPS ROUND BAR 1

JP02112RF NO2X1.5IN PHILLPS ROUND BAR 1

JP0204RF NO 2 X 4IN PHILLIPS ROUND BAR 1



Mfg Part # Description Qty

JP0306RF NO3 X 6IN PHILLIPS ROUND BAR 1

JP0408RF NO4 X 8IN PHILLPS ROUND BAR 1

JP0208RF NO2 X 8IN PHILLIPS ROUND BAR 1

J9200DB SET NUT DRIVER 11 PC (set breakdown 
indented below)

1

J9220 NUT DRIVER 5/8 1

J9218 NUT DRIVER 9/16 1

J9216 NUT DRIVER 1/2 1

J9214 NUT DRIVER 7/16 1

J9212 NUT DRIVER 3/8 1

J9211 NUT DRIVER 11/32 1

J9210 NUT DRIVER 5/16 1

J9209 NUT DRIVER 9/32 1

J9208 NUT DRIVER 1/4 1

J9207 NUT DRIVER 7/32 1

J9206 NUT DRIVER 3/16 1

J9500B SET SCREW EXTRACTOR 10 PC (set 
breakdown indented below)

1

J9521 SCREW EXTRACTOR 1/8 1

J9522 SCREW EXTRACTOR 3/16 1

J9523 SCREW EXTRACTOR 15/64 1

J9524 SCREW EXTRACTOR 5/16 1

J9525 SCREW EXTRACTOR 3/8 1

J9525B SCREW EXTRACTOR 15/32 1

J9526 SCREW EXTRACTOR 9/16 1

J9527 SCREW EXTRACTOR 21/32 1

J9528 SCREW EXTRACTOR 13/16 1

J9529 SCREW EXTRACTOR 1-1/16 1

J9853 SCREW STARTER STD TIP 5-5 1

J9884 SCREW STARTER PHILLIPS 5- 1

33-212 ST TAPE PL 12’1/2” 1

J57-532 28 OZ DEAD BLOW COMBO FACE ORANGE 1

J57-534 56 OZ DEAD BLOW COMBO FACE OR-Semi 
Fin

1

J235 PLIER IGNITION W/GRIP 1

J262SGXL 7” GROOVE JOINT 1

J260SGXL 10”GROOVE JOINT 1

J265SGXL 16” GROOVE JOINT 1

28-540 1-1/4IN FLEX PUTTY KNIFE 1


